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1) Which of the following is correct statement?

1) Blastulation of frog is known as discoblastula

2) Fluid filled space in blastula is known as
archenteron

3) Blastulation establishes the three germinal
layers

4) In blastulation major presumptive and organ
forming areas are segregated into definite points of
the blastoderm

2) Ravi, who lived at sea level, had around 5
million RBC per cubic millimeter of his blood. Later
when he lived at an altitude of 18,000 ft, showed
around 8 million RBC per cubic millimeter of
blood. This is an adaptation because

1) He had pollution free air to balance breathe

2) At high altitude he ate more nutritive food

3) At high altitude there is more UV radiation
which enhances RBCs production

4) At high altitude O; level is less hence more RBCs
were required to absorb enough oxygen

3) A system of classification that is based
evolution, order and ancestry is known as

1) Natural system 2) Phylogenetic system .
3) Analogous system 4) Homologous system

4) Meningitis a disease is responm? for
membrane damage of the brain is caus

1) Bordetella 2) Neisseria

3) Bacillus 4) A fungus

5) The non - protein enzyme is .«
1) Pepsin 2) Ribozymiel™
3) Trypsin 4) All of the a
6) What is the alternate nafnesfor the yellow spot in
retina?

1) Corpus lutea
3) Fovea centralis

is centralis
dcula lutea

7) Primary functio %ﬁm is to
1) Bear and holdé'lnaves
2) Absorb water an inerals

3) Help in vegetative propagation
4) Fixation of plant

8) Which of the following statement is incorrect?

1) All pollutants are not waste

2) Nitrogen and Mg can pollute water

3) Lichens are affected by sulphur dioxide

4) Carbon monoxide is the major environment
pollutant

oA

9) Which one of the following
myofibril when skeletal musgle, ¢

Light band Dark ban

1) Shortens Unchan%ﬁsappears

Light band Dark band¢H-zone
fens = Shortens

d H-zone
Shortens

,band H-zone
hanged Unchanged

Light band Dé

Shortens tens

3)

e orchids are
and ¢ 2) Large and heavy
and sticky 4) None of these

11 iving force of an ecosystem is
1) Bidmass 2) Producer
Solar energy 4) Carbohydrates in plants

) The articulation of vertebrae in vertebral

b 1) Post-zygapophyses of a vertebra in front fit
beneath the pre-zygapophyses of the another
vertebra behind

2) Post-zygapophyses of a vertebra in front fit over
the pre-zygapophyses of another vertebra behind

3) Pre and post-zygapophyses of vertebra simply
touch one another

4) Pre-zygapophyses of a vertebra fit over the
post-zygapophyses of the vertebra in front

ﬁumn is when

13) fishes can control the mosquito larvae
hence can control malaria

1) Scoliodon 2) Labeo

3) Gambusia 4) Star fish

14) Which one of the following statement in regard
to nerve activity is true?

1) In tetanus the excitatory impulse to muscles are
inhibited leading to lock jaw

2) Information across the synaptic cleft is
transmitted by means of a chemical
neurotransmitter in small vesicle

3) The synaptic cleft does not prevent direct
propagation of action potential from presynaptic
neuron to post synaptic cell

4) Combination of neurotransmitter with receptor
site changes membrane potential without changing
membrane potentiality







